
Challenge:
Make up a number story for 
question 1. 

Date: 1.2.21
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 679 – 33 =

3)  753 - 52 =

1) 483 – 22 =

Challenge:
What is wrong with this calculation?  

Date: 2.2.21
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 654 - 83 =

3) 583 – 87 =    

1) 276 – 49 =

Challenge:
Write an inverse operation (-) for 
question 1. 

Date: 3.2.21
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 701 – 456 =

3) 722 - 500 = 

1) 692 – 366 =

Challenge:
What are the missing values?

Date: 4.2.21
Score:

2)              X             = 508   

3) 84.7 x 3 =  

1) 9 x 8 x 6 = 

2) 2 x 4 = 

3) 2 x 8 = 

1) 2 x 3 =


